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Two functions one time;

flz) =asin(2) (—10 <a < 10) giz) = cos(x) + 1
Three coefficients at most.
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Input function f(z} including three coefiicients o, b, cat most. Animation of flx) |a
Change values of a, b, ¢ by moving scroll bars. T
Refresh s
| 5|

Permalink, Shortened Temparary Link

flz) = boslniar)
g(z) = lascoa(ben)+c

a

b

c

Range of & =
— Text @ 10

B Animation of F(x) |a_record [+]

Canvas Size 10
Grid @
Axis &
Animation of f(x) [None  [+] ~
-FFS 5 E 5 % )
- Text

B} 0

=

Grapher for Derivatives
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Sage Grapher for Linear Transformation

You can change coefficients by moving scroll bars:
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% http://youtu.be/JdANNnHGdJBrQ
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% http://youtu.be/0Q2m6SSSquc
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% http://youtu.be/O0TPCpKW eY

3.6 S+UHE

% http://youtu.be/jLh77sZ0OaM8
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% http://youtu.be/IKJPnLCiAVU
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4.3 AH B Al(Cramer’s Rule)

% http://youtu.be/m2NkOX7gE50
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4.5 D{UD DFHE

% http://youtu.be/96Brbkx1cQ4
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